Available Online: http://ijmaa.in

ISSN: 2347-1557

Common Fixed Point Theorem for Two Self-Mappings in Dislocated Quasi-Metric Spaces

with Application

Rajesh Patel<sup>1,\*</sup>, Rakesh Tiwari<sup>2</sup>

 $^{1}$ Department of Mathematics, C. L. C. Government Arts and Commerce College Dhamdha, Durg, Chhattisgarh, India

<sup>2</sup>Department of Mathematics, Government V. Y. T. Post Graduate Autonomous College, Durg, Chhattisgarh, India

**Abstract** 

The purpose of this paper, to establish a coupled common fixed point theorem for self-mappings in dislocated quasi metric space. Moreover, we have an illustrative example to support our results. Also, we provide an application for dislocated quasi metric spaces of integral type.

Keywords: Dislocated quasi metric space; coupled common fixed point; coupled coincidence point; weakly compatible maps.

2020 Mathematics Subject Classification: 47H10, 54H25.

**Introduction and Preliminaries** 

In 2001, Hitzler [7] presented the concept of dislocated metric spaces, as a simultaneously generalized famous Banach contraction principle in dislocated metric space. Later, Zeyada [14] expanded his approach, and a large number of works addressing fixed point results for a single and a pair of mappings satisfying various types of contraction criteria are too widely spread, (see, [1,13]). The fundamental idea of coupled fixed point for non-linear contractions in partially ordered metric spaces was developed by Bhaskar and Lakshmikantham [10]. After that, coupled coincidence and coupled common fixed point theorems for nonlinear contractive mappings in a complete partially ordered metric space were shown by Lakshmikantham and Ciric [10]. Numerous analysts have become interested in this field of research, and a variety of work has been published in various spaces (see, [2,6,8,9]). In the setting of a dislocated quasi-metric space, coupled fixed point has also been discovered by Mohammad et al. [12]. The following definitions and notations are provided initially and will be used in the main results:

**Definition 1.1** ([3]). Let (X,d) be a metric space. A self-map  $T:X\to X$  is said to be a contraction mapping if there exists a constant  $k \in [0,1)$  called a contraction factor such that  $d(Tx,Ty) \leq kd(x,y)$  for all  $x,y \in X$ .

\*Corresponding author (rajesh.patel@bitdurg.ac.in)

**Definition 1.2** ([3]). Let (X, d) be a metric space and  $T: X \to X$  be a self-map. We say that x is a fixed point of T if Tx = x.

**Definition 1.3** ([3]). *Suppose* (X, d) *be a complete metric space and*  $T : X \to X$  *be a contraction, then* T *has a unique fixed point.* 

**Definition 1.4** ([7]). Let X be a non-empty set and let  $d: X \times X \to [0, \infty)$  be a function satisfying the conditions:

- 1.  $d(u,v) = d(v,u) = 0 \Rightarrow u = v$ ,
- 2.  $d(u,v) \leq d(u,w) + d(w,v)$  for all  $u,v,w \in X$ .

Then d is known as dislocated quasi-metric on X and the pair (X, d) is called a dislocated quasi-metric space.

**Definition 1.5** ([14]). A sequence  $\{x_n\}$  in a dislocated quasi metric space (X, d) is said to converge to a point  $x \in X$  if and only if  $\lim_{n \to \infty} d(x_n, x) = \lim_{n \to \infty} d(x, x_n) = 0$ .

**Definition 1.6** ([14]). A sequence  $\{x_n\}$  in a dislocated quasi metric space (X,d) is called a Cauchy sequence, if for every  $\epsilon > 0$ , there exists a positive integer  $n_0$  such that for  $m, n > n_0$ , we have  $d(x_n, x_m) < \epsilon$ . That is,  $\lim_{n \to \infty} d(x_n, x_m) = 0$ .

**Definition 1.7** ([14]). A dislocated quasi metric space is called complete if every Cauchy sequence converges to an element in the same metric space.

**Definition 1.8** ([4]). An element  $(x,y) \in X \times X$ , where X is any non-empty set, is called a coupled fixed point of the mapping  $F: X \times X \to X$  if F(x,y) = x and F(y,x) = y.

**Definition 1.9** ([10]). An element  $(x,y) \in X \times X$  is called a coupled coincidence point of the mappings  $F: X \times X \to X$  and  $g: X \to X$  if F(x,y) = g(x) and F(y,x) = g(y), and (g(x),g(y)) is called coupled point of coincidence.

**Definition 1.10** ([10]). An element  $(x,y) \in X \times X$ , where X is any non-empty set, is called a coupled common fixed point of the mappings  $F: X \times X \to X$  and  $g: X \to X$  if F(x,y) = g(x) = x and F(y,x) = g(y) = y.

**Definition 1.11** ([10]). The mappings  $F: X \times X \to X$  and  $g: X \to X$  are called commutative if g(F(x,y)) = F(gx,gy) for all  $x,y \in X$ .

**Definition 1.12** ([10]). The mappings  $F: X \times X \to X$  and  $g: X \to X$  are called w-Compatible if g(F(x,y)) = F(gx,gy) and g(F(y,x)) = F(gy,gx) whenever gx = F(x,y) and gy = F(y,x).

**Lemma 1.13** ([11]). If x is a limit of some sequence  $\{x_n\}$  in a dislocated quasi-metric space (X,d), then d(x,x)=0.

#### 2. Main Results

In this section, we developed a coupled common fixed theorem for continuous and commutative mappings in dislocated metric space.

**Theorem 2.1.** Let (X,d) be a complete dislocated quasi-metric space and  $S,T:X\to X$  are continuous and commutative mappings such that  $d(Sx,Ty)\leq \lambda M(x,y)$ , where

$$M(x,y) = \max \left\{ \begin{array}{l} 2d(x,y), \frac{2d(x,Sx)d(y,Ty)}{d(x,y)}, \left[d(x,Sx) + d(y,Ty)\right], \\ \frac{\left[d(x,Ty) + d(y,Sx)\right]}{2}, \frac{2\left[d(x,Ty) + d(x,y)\right]}{3}, \\ \left[d(x,Sx) + d(x,y)\right], \left[d(y,Ty) + d(x,y)\right] \end{array} \right\}, \ \forall \ x, y \in X$$
 (1)

with  $d(x,y) \neq 0$  and  $\lambda \in [0,\frac{1}{2})$ . Then S and T has a unique common fixed point in X.

*Proof.* Assume that *S* and *T* verifies (1). Then, we discuss the following different cases.

Case 1: If  $M(x,y) = \frac{2d(x,Sx)d(y,Ty)}{d(x,y)}$ , then

$$d(Sx,Ty) \leq \lambda \frac{2d(x,Sx)d(y,Ty)}{d(x,y)}, \forall \ x, y \in X.$$

Taking y = Sx, we have

$$d(Sx, TSx) \le 2\lambda \ d(Sx, TSx), \ \forall \ x \in X.$$
 (2)

Since  $(1-2\lambda) > 0$ , we have d(Sx, TSx) = 0, implies that TSx = Sx. Similarly, taking x = Ty, we have d(STy, Ty) = 0, implies that STy = Ty. By taking x = y, then we have d(STx, Tx) = 0, implies that STx = Tx. Since S and T are commuting, i.e. TSx = STx,  $\forall x \in X$ . Therefore Sx = Tx for some  $x \in X$ . Hance x is a coincidence point of S and T. Thus, we conclude that  $T^2x = Tx$  and  $S^2x = Sx$ . Therefore x is a common fixed point of S and T.

**Case 2**: If M(x, y) = 2d(x, y), then

$$d(Sx, Ty) \le 2\lambda d(x, y), \ \forall \ x, y \in X.$$

We consider a sequence  $\{x_n\}$  in X such that  $x_{2n+1} = Tx_{2n}$  and  $x_{2n+2} = Sx_{2n+1}$  with  $x_0 \in X$ . We will show that  $\{x_n\}$  is a Cauchy sequence in X. For that, let  $n \in \mathbb{N}$  and using (2), we get

$$d(x_{2n+2}, x_{2n+1}) = d(Sx_{2n+1}, Tx_{2n})$$

$$\leq 2\lambda d(x_{2n+1}, x_{2n})$$

$$\leq hd(x_{2n+1}, x_{2n}), \text{ where } h = 2\lambda.$$

Continuing this process we have,  $d(x_{2n+2}, x_{2n+1}) \le h^{2n+1}d(x_1, x_0)$  and then, we conclude that

$$d(x_{2n}, x_{2m}) \leq d(x_{2n}, x_{2n+1}) + d(x_{2n+1}, x_{2n+2}) + \dots + d(x_{2m-1}, x_{2m})$$

$$\leq (h^{2n} + h^{2n+1} + \dots + h^{2m-1})d(x_1, x_0)$$

$$\leq \frac{h^{2n}}{1 - h}d(x_1, x_0).$$
(3)

Since  $h = 2\lambda \in [0,1)$ , it follows from (3) that  $\{x_n\}$  is a Cauchy sequence in X and therefore, there exist  $x^* \in X$  such that  $\lim_{n \to \infty} x_n = x^*$  and  $\lim_{n \to \infty} Tx_n = x^*$ ,  $\lim_{n \to \infty} Sx_n = x^*$ . From (3), we deduce that

$$d(Sx_n, Tx^*) \le 2\lambda d(x_n, x^*)$$
 and  $d(Sx^*, Tx_n) \le 2\lambda d(x^*, x_n), \forall n \in \mathbb{N}$ .

Since *S* and *T* both are continuous, we deduce

$$\lim_{n\to\infty} d(Sx_n, Tx^*) \le 2\lambda \lim_{n\to\infty} d(x_n, x^*) \text{ and } \lim_{n\to\infty} d(Sx^*, Tx_n) \le 2\lambda \lim_{n\to\infty} d(x^*, x_n),$$

implies that  $d(x^*, Tx^*) \leq 2\lambda d(x^*, x^*)$  and  $d(Sx^*, x^*) \leq 2\lambda d(x^*, x^*)$ . Thus  $d(x^*, Tx^*) = 0$  and  $d(Sx^*, x^*) = 0$ . Therefore, we conclude that  $Tx^* = x^*$  and  $Sx^* = x^*$ . Hance S and T have a common fixed point.

**Case 3**: If M(x,y) = [d(x,Sx) + d(y,Ty)], then

$$d(Sx, Ty) \le \lambda [d(x, Sx) + d(y, Ty)], \ \forall \ x, y \in X.$$
(4)

We consider a sequence  $\{x_n\}$  in X such that  $x_{2n+1} = Tx_{2n}$  and  $x_{2n+2} = Sx_{2n+1}$ . We will show that  $\{x_n\}$  is a Cauchy sequence in X. For that, let  $n \in \mathbb{N}$  and using (4), we get

$$d(x_{2n+2}, x_{2n+1}) = d(Sx_{2n+1}, Tx_{2n})$$

$$\leq \lambda [d(x_{2n+1}, Sx_{2n+1}) + d(x_{2n}, Tx_{2n})]$$

$$\leq \lambda [d(x_{2n+1}, x_{2n+2}) + d(x_{2n}, x_{2n+1})], \ \forall \ n \in \mathbb{N}.$$

Which implies  $d(x_{2n+2}, x_{2n+1}) \leq \frac{\lambda}{1-\lambda} d(x_{2n}, x_{2n+1})$ ,  $\forall n \in \mathbb{N}$ . Since  $h = \frac{\lambda}{1-\lambda} \in [0,1)$ , then  $\{x_n\}$  is a Cauchy sequence in X. Therefore, there exist  $x^* \in X$  such that  $\lim_{n \to \infty} x_n = x^*$  and  $\lim_{n \to \infty} Tx_n = x^*$ ,  $\lim_{n \to \infty} Sx_n = x^*$ . From (4), we deduce that

$$d(Sx_n, Tx^*) \le \lambda [d(x_n, Sx_n) + d(x^*, Tx^*)]$$
  
 
$$\le \lambda [d(x_n, x^*) + d(x^*, Sx_n) + d(x^*, Tx^*)], \ \forall \ n \in \mathbb{N}.$$

Then, by passing to limit for in the above inequality, we find  $d(x^*, Tx^*) \leq \frac{2\lambda}{1-\lambda}d(x^*, x^*)$ . Similarly,  $d(Sx^*, x^*) \leq \frac{2\lambda}{1-\lambda}d(x^*, x^*)$ . Thus  $d(x^*, Tx^*) = 0$  and  $d(Sx^*, x^*) = 0$ . Therefore, we conclude that

 $Tx^* = x^*$  and  $Sx^* = x^*$ . Hance S and T have a common fixed point.

Case 4: If  $M(x,y) = \frac{d(x,Ty) + d(y,Sx)}{2}$ , then

$$d(Sx, Ty) \le \frac{\lambda}{2} [d(x, Ty) + d(y, Sx)], \ \forall \ x, y \in X.$$
 (5)

We consider a sequence  $\{x_n\}$  in X such that  $x_{2n+1} = Tx_{2n}$  and  $x_{2n+2} = Sx_{2n+1}$  with  $x_0 \in X$ . We will show that  $\{x_n\}$  is a Cauchy sequence in X. For that, let  $n \in \mathbb{N}$  and using (5), we get

$$d(x_{2n+2}, x_{2n+1}) = d(Sx_{2n+1}, Tx_{2n})$$

$$\leq \frac{\lambda}{2} [d(x_{2n+1}, Tx_{2n}) + d(x_{2n}, Sx_{2n+1})]$$

$$\leq \frac{\lambda}{2} [d(x_{2n+1}, x_{2n+1}) + d(x_{2n}, x_{2n+2})]$$

$$\leq \frac{\lambda}{2} d(x_{2n}, x_{2n+2}), \forall n \in \mathbb{N}.$$

We can easily see that  $h = \frac{\lambda}{2} \in [0,1)$ , then  $\{x_n\}$  is a Cauchy sequence in X. Therefore, there exist  $x^* \in X$  such that  $\lim_{n \to \infty} x_n = x^*$  and  $\lim_{n \to \infty} Tx_n = x^*$ ,  $\lim_{n \to \infty} Sx_n = x^*$ . From (5), we deduce that

$$d(Sx_n,Tx^*) \leq \frac{\lambda}{2}[d(x_n,Tx^*)+d(x^*,Sx_n)].$$

Since *S* is continuous, we have

$$\lim_{n\to\infty}d(Sx_n,Tx^*)\leq \frac{\lambda}{2}\lim_{n\to\infty}[d(x_n,Tx^*)+d(x^*,Sx_n)].$$

Implies  $d(x^*, Tx^*) \leq \frac{\lambda}{2}[d(x^*, Tx^*) + d(x^*, x^*)]$ . Similarly  $d(Sx^*, x^*) \leq \frac{\lambda}{2}[d(x^*, x^*) + d(Sx^*, x^*)]$ . Thus,  $(1 - \frac{\lambda}{2})d(x^*, Tx^*) \leq 0$  and  $(1 - \frac{\lambda}{2})dS(x^*, x^*) \leq 0$ . Implies  $d(x^*, Tx^*) = 0$  and  $d(Sx^*, x^*) = 0$ . Therefore, we conclude that  $Tx^* = x^*$  and  $Sx^* = x^*$ . Hance S and T have a common fixed point.

**Case 5**: If M(x, y) = d(x, Sx) + d(x, y), then

$$d(Sx, Ty) \le \lambda [d(x, Sx) + d(x, y)], \ \forall \ x, y \in X.$$
 (6)

We define a sequence  $\{x_n\}$  in X such that  $x_{2n+1} = Tx_{2n}$  and  $x_{2n+2} = Sx_{2n+1}$ . We will show that  $\{x_n\}$  is a Cauchy sequence in X. For that, let  $n \in \mathbb{N}$  and using (7), we get

$$d(x_{2n+1}, x_{2n+2}) = d(Sx_{2n}, Tx_{2n+1})$$

$$\leq \lambda [d(x_{2n}, Sx_{2n}) + d(x_{2n}, x_{2n+2})]$$

$$\leq \lambda [d(x_{2n}, x_{2n+1}) + d(x_{2n}, x_{2n+2})]$$

$$\leq \lambda d(x_{2n+1}, x_{2n+2}), \ \forall \ n \in \mathbb{N}.$$

Since  $1 - \lambda \in [0, 1)$ , then  $\{x_n\}$  is a Cauchy sequence in X. Therefore, there exist  $x^* \in X$  such that  $\lim_{n \to \infty} x_n = x^*$  and  $\lim_{n \to \infty} Tx_n = x^*$ ,  $\lim_{n \to \infty} Sx_n = x^*$ . From (7), we deduce that

$$d(Sx_n, Tx^*) \leq \lambda [d(x_n, Sx_n) + d(x_n, x^*)].$$

Since *S* is continuous, we have

$$\lim_{n\to\infty} d(Sx_n, Tx^*) \le \lambda \lim_{n\to\infty} [d(x_n, Sx_n) + d(x_n, x^*)].$$

Implies  $d(x^*, Tx^*) \le \lambda[d(x^*, x^*) + d(x^*, x^*)]$ . Similarly  $d(Sx^*, x^*) \le \lambda[d(x^*, x^*) + d(x^*, x^*)]$ . Therefore, we conclude that  $Tx^* = x^*$  and  $Sx^* = x^*$ . Hance S and T have a common fixed point.

**Case 6**: If M(x, y) = d(y, Ty) + d(x, y), then

$$d(Sx, Ty) \le \lambda [d(y, Ty) + d(x, y)], \ \forall \ x, y \in X.$$
 (7)

We define a sequence  $\{x_n\}$  in X such that  $x_{2n+1} = Tx_{2n}$  and  $x_{2n+2} = Sx_{2n+1}$ . We will show that  $\{x_n\}$  is a Cauchy sequence in X. For that, let  $n \in \mathbb{N}$  and using (7), we get

$$d(x_{2n+1}, x_{2n+2}) = d(Sx_{2n}, Tx_{2n+1})$$

$$\leq \lambda [d(x_{2n+1}, Tx_{2n+1}) + d(x_{2n}, x_{2n+1})]$$

$$\leq \lambda [d(x_{2n+1}, x_{2n+2}) + d(x_{2n}, x_{2n+1})]$$

$$\leq \frac{\lambda}{1 - \lambda} d(x_{2n}, x_{2n+1}), \ \forall \ n \in \mathbb{N}.$$

Since  $h = \frac{\lambda}{1-\lambda} \in [0,1)$ , we conclude that

$$d(x_{2n+1}, x_{2n+2}) \le hd(x_{2n}, x_{2n+1}), \ \forall \ n \in \mathbb{N}.$$

Therefore,  $\{x_n\}$  is a Cauchy sequence in X and then  $x^* \in X$  such that  $\lim_{n \to \infty} x_n = x^*$  and  $\lim_{n \to \infty} Tx_n = x^*$ ,  $\lim_{n \to \infty} Sx_n = x^*$ . Furthermore, we have

$$d(Sx^*, Tx_n) \le \lambda [d(x_n, Tx_n) + d(x^*, x_n)], \text{ implies}$$
  
 $\lim_{n \to \infty} d(Sx^*, Tx_n) \le \lambda \lim_{n \to \infty} [d(x_n, Tx_n) + d(x^*, x_n)].$ 

Since T is continuous, we have  $d(Sx^*, x^*) \leq \lambda[d(x^*, x^*) + d(x^*, x^*)]$ . Similarly,  $d(x^*, Tx^*) \leq \lambda[d(x^*, x^*) + d(x^*, x^*)]$ . Therefore,  $d(Sx^*, x^*) = 0$  and  $d(x^*, Tx^*) = 0$ . Finally, we conclude that  $Tx^* = x^*$  and  $Sx^* = x^*$ . Hance S and T have a common fixed point.

Case 7 : If  $M(x,y) = \frac{2}{3}[d(x,Ty) + d(x,y)]$ , then

$$d(Sx, Ty) \le \frac{2\lambda}{3} [d(x, Ty) + d(x, y)], \ \forall \ x, y \in X.$$
(8)

We define a sequence  $\{x_n\}$  in X such that  $x_{2n+1} = Tx_{2n}$  and  $x_{2n+2} = Sx_{2n+1}$ . We will show that  $\{x_n\}$  is a Cauchy sequence in X. For that, let  $n \in \mathbb{N}$  and use (8), we get

$$\begin{split} d(x_{2n+1},x_{2n+2}) &= d(Sx_{2n},Tx_{2n+1}) \\ &\leq \frac{2\lambda}{3} [d(x_{2n},Tx_{2n+1}) + d(x_{2n},x_{2n+1})] \\ &\leq \frac{2\lambda}{3} [d(x_{2n},x_{2n+2}) + d(x_{2n},x_{2n+1})] \\ &\leq \frac{2\lambda}{3} [d(x_{2n},x_{2n+1}) + d(x_{2n+1},x_{2n+2}) + d(x_{2n},x_{2n+1})], \ \forall \ n \in \mathbb{N}, \end{split}$$

or

$$d(Sx_{2n}, Tx_{2n+1}) \leq \frac{4\lambda}{3-2\lambda}d(x_{2n}, x_{2n+1}), \ \forall \ x, \ y \in X \ and \ n \in \mathbb{N}.$$

Since  $h = \frac{4\lambda}{3-2\lambda} \in [0,1)$ , the above inequality implies that  $\{x_n\}$  is a Cauchy sequence in X and then in  $x^* \in X$  such that  $\lim_{n \to \infty} x_n = x^*$  and  $\lim_{n \to \infty} Tx_n = x^*$ ,  $\lim_{n \to \infty} Sx_n = x^*$ . Furthermore, we have

$$\lim_{n\to\infty} d(Sx_n, Tx^*) \leq \frac{2\lambda}{3} \lim_{n\to\infty} [d(x_n, Tx^*) + d(x_n, x^*)].$$

Implies,  $d(x^*, Tx^*) \leq \frac{2\lambda}{3}[d(x^*, x^*) + d(x^*, x^*)]$ . Similarly  $d(Sx^*, x^*) \leq \frac{2\lambda}{3}[d(x^*, x^*) + d(x^*, x^*)]$ . Therefore,  $d(Sx^*, x^*) = 0$  and  $d(x^*, Tx^*) = 0$ . Finally, we conclude that  $Tx^* = x^*$  and  $Sx^* = x^*$ . Hance S and T have a common fixed point.

**For Uniqueness:** We consider two common fixed points  $x^*, y^* \in X$  of self-mappings S and T. Then from (1), we have

$$d(Sx^*, Ty^*) \leq \lambda \max \left\{ \begin{array}{l} 2d(x^*, y^*), \frac{2d(x^*, Sx^*)d(y^*, Ty^*)}{d(x^*, y^*)}, \left[d(x^*, Sx^*) + d(y^*, Ty^*)\right], \\ \frac{\left[d(x^*, Ty^*) + d(y^*, Sx^*)\right]}{2}, \frac{2\left[d(x^*, Ty^*) + d(x^*, y^*)\right]}{3}, \\ \left[d(x^*, Sx^*) + d(x^*, y^*)\right], \left[d(y^*, Ty^*) + d(x^*, y^*)\right] \end{array} \right\},$$

where  $\lambda \in [0, \frac{1}{2})$ , we deduce the following results for distinguish cases.

Case 1: We have

$$d(x^*, y^*) = d(Sx^*, Ty^*) \le 2\lambda \frac{d(x^*, Sx^*)d(y^*, Ty^*)}{d(x^*, y^*)}$$
  
$$\le 2\lambda \frac{d(x^*, x^*)d(y^*, y^*)}{d(x^*, y^*)}.$$

Thus  $d(x^*, y^*) = 0$ .

Case 2: We have

$$d(x^*, y^*) = d(Sx^*, Ty^*) \le 2\lambda d(x^*, y^*),$$

implies  $(1 - 2\lambda)d(x^*, y^*) \le 0$ . Thus  $d(x^*, y^*) = 0$ .

Case 3: We have

$$d(x^*, y^*) = d(Sx^*, Ty^*) \le \lambda \left[ d(x^*, Sx^*) + d(y^*, Ty^*) \right]$$
  
 
$$\le \lambda \left[ d(x^*, x^*) + d(y^*, y^*) \right],$$

Thus  $d(x^*, y^*) = 0$ .

Case 4: We have

$$d(x^*, y^*) = d(Sx^*, Ty^*) \le \lambda \frac{\left[d(x^*, Ty^*) + d(y^*, Sx^*)\right]}{2}$$
$$\le \lambda \frac{\left[d(x^*, y^*) + d(y^*, x^*)\right]}{2},$$

or

$$d(x^*, y^*) \le \frac{\frac{\lambda}{2}}{1 - \frac{\lambda}{2}} d(y^*, x^*)$$
  
 
$$\le \left(\frac{\frac{\lambda}{2}}{1 - \frac{\lambda}{2}}\right)^2 d(x^*, y^*).$$

Since  $\left(\frac{\frac{\lambda}{2}}{1-\frac{\lambda}{2}}\right) \in [0,1)$ . Thus  $d(x^*,y^*) = 0$ .

Case 5: We have

$$d(x^*, y^*) = d(Sx^*, Ty^*) \le \lambda [d(x^*, Sx^*) + d(x^*, y^*)]$$
  
 
$$\le \lambda [d(x^*, x^*) + d(x^*, y^*)],$$

implies  $(1 - \lambda)d(x^*, y^*) \le 0$ . Thus  $d(x^*, y^*) = 0$ .

Case 6: We have

$$d(x^*, y^*) = d(Sx^*, Ty^*) \le \lambda \left[ d(y^*, Ty^*) + d(x^*, y^*) \right]$$
  
 
$$\le \lambda \left[ d(y^*, y^*) + d(x^*, y^*) \right],$$

implies  $(1 - \lambda)d(x^*, y^*) \le 0$ . Thus  $d(x^*, y^*) = 0$ .

Case 7: We have

$$d(x^*, y^*) = d(Sx^*, Ty^*) \le \lambda \frac{2[d(x^*, Ty^*) + d(x^*, y^*)]}{3}$$
$$\le \lambda \frac{2[d(x^*, y^*) + d(x^*, y^*)]}{3},$$

implies  $\left(1 - \frac{4\lambda}{3}\right)d(x^*, y^*) \le 0$ . Thus  $d(x^*, y^*) = 0$ .

Hence, in all cases  $d(x^*, y^*) = 0$ . Therefore, we conclude that  $x^* = y^*$ .

**Example 2.2.** Assume the set  $X = \{0, \frac{1}{7}, \frac{1}{5}, 10\}$  and  $d: X \times X \to \mathbb{R}^+$  be defined by d(x, y) = 2x + y,  $\forall x, y \in X$ . Then (X, d) is dislocated quasi-metric space. We define the mappings  $S, T: X \to X$  by T(0) = 0,  $T(\frac{1}{7}) = 0$ ,  $T(\frac{1}{5}) = \frac{1}{7}$ ,  $T(10) = \frac{1}{5}$  and S(0) = 0,  $S(\frac{1}{7}) = \frac{1}{5}$ ,  $S(\frac{1}{5}) = 0$ ,  $S(10) = \frac{1}{7}$ . For  $\lambda = \frac{1}{3}$ , we can easily see that all the assumptions of Theorem 2.1 are satisfied and 0 is the unique common fixed point of S and T.

As a consequence of Theorem 2.1, if S = T, we state the following corollary.

**Corollary 2.3.** [11] Let (X,d) be a complete dislocated quasi-metric space and  $T: X \to X$  is a self-mappings such that  $d(Tx,Ty) \le \lambda M(x,y)$ , where

$$M(x,y) = \max \left\{ \begin{array}{l} 2d(x,y), \frac{2d(x,Tx)d(y,Ty)}{d(x,y)}, \left[d(x,Tx) + d(y,Ty)\right], \\ \frac{\left[d(x,Ty) + d(y,Tx)\right]}{2}, \frac{2\left[d(x,Ty) + d(x,y)\right]}{3}, \\ \left[d(x,Tx) + d(x,y)\right], \left[d(y,Ty) + d(x,y)\right] \end{array} \right\}, \ \forall \ x, y \in X$$

with  $d(x,y) \neq 0$  and  $\lambda \in [0,\frac{1}{2})$ . Then T has a unique fixed point in X.

**Remark 2.4.** In particular corollary 2.3 if S = T in Theorm 2.1, we get Theorem 3.2 of Mhanna et al. [11].

# 3. Application

We provide an application for dislocated quasi-metric spaces of integral type.

## 3.1 Existence and Uniqueness theorem for the integral type

In this section, we establishing the existence and uniqueness of common fixed point in dislocated quasi-metric spaces of integral type.

**Theorem 3.1.** Let (X, d) be a complete dislocated quasi-metric space and  $S, T : X \to X$  be continuous mappings satisfying

$$\int_{0}^{d(Sx,Ty)} f(t) dt \le \alpha \int_{0}^{\frac{d(y,Ty)[1+d(x,Sx)]}{1+d(x,y)}} f(t) dt + \beta \int_{0}^{d(x,y)} f(t) dt + \gamma \int_{0}^{d(y,Ty)} f(t) dt$$
(9)

for all  $x, y \in X$ ,  $\alpha > 0$ ,  $\beta > 0$ ,  $\gamma > 0$  with  $\alpha + \beta + \gamma < 1$ . Then S and T have a unique common fixed point.

*Proof.* Let  $\{x_n\}$  be a sequence in X, defined as  $x_{2n+1} = Sx_{2n}$  and  $x_{2n+2} = Tx_{2n+1}$  such that

$$\begin{split} \int_{0}^{d(x_{2n+1},x_{2n+2})} f(t) \, dt &= \int_{0}^{d(Sx_{2n},Tx_{2n+1})} f(t) \, dt \\ &\leq \alpha \int_{0}^{\frac{d(x_{2n+1},Tx_{2n+1})[1+d(x_{2n},Sx_{2n})]}{1+d(x_{2n},x_{2n+1})}} f(t) \, dt + \beta \int_{0}^{d(x_{2n},x_{2n+1})} f(t) \, dt + \gamma \int_{0}^{d(x_{2n+1},Tx_{2n+1})} f(t) \, dt \\ &\leq \alpha \int_{0}^{\frac{d(x_{2n+1},x_{2n+2})[1+d(x_{2n},x_{2n+1})]}{1+d(x_{2n},x_{2n+1})}} f(t) \, dt + \beta \int_{0}^{d(x_{2n},x_{2n+1})} f(t) \, dt + \gamma \int_{0}^{d(x_{2n+1},x_{2n+2})} f(t) \, dt \\ &\leq \left(\frac{\beta}{1-\alpha-\gamma}\right) \int_{0}^{d(x_{2n},x_{2n+1})} f(t) \, dt. \end{split}$$

Let  $h = \frac{\beta}{1-\alpha-\gamma}$ , 0 < h < 1. Therefore

$$\int_0^{d(x_{2n+1},x_{2n+2})} f(t) dt \le h \int_0^{d(x_{2n},x_{2n+1})} f(t) dt.$$

Similarly,

$$\int_0^{d(x_{2n},x_{2n+1})} f(t) dt \le h \int_0^{d(x_{2n-1},x_{2n})} f(t) dt.$$

Continuing this process, we get

$$\int_0^{d(x_{2n+1},x_{2n+2})} f(t) dt \le h^{2n+1} \int_0^{d(x_0,x_1)} f(t) dt.$$

Since 0 < h < 1, so for  $n \to \infty$ ,  $h^{2n+1} \to 0$ , we have  $d(x_{2n+1}, x_{2n+2}) \to 0$ . Hence  $\{x_n\}$  is a Cauchy sequence in X, so there is a point  $x^* \in X$ , such that  $x_n \to x^*$ . Since S and T are continuous,

$$S(x^*) = \lim_{n \to \infty} S(x_{2n}) = \lim_{n \to \infty} x_{2n+1} = x^*$$

and

$$T(x^*) = \lim_{n \to \infty} T(x_{2n+1}) = \lim_{n \to \infty} x_{2n+2} = x^*.$$

Thus  $S(x^*) = T(x^*) = x^*$ , so S and T have a common fixed point.

**Uniqueness:** If  $x \in X$  a common fixed point of S and T, then by (3.1)

$$\int_0^{d(Sx,Tx)} f(t) \, dt = \int_0^{d(x,x)} f(t) \, dt \le (\alpha + \beta + \gamma) \int_0^{d(x,x)} f(t) \, dt,$$

which is true only if d(x,x) = 0, since  $0 < \alpha + \beta + \gamma < 1$  and  $d(x,x) \ge 0$ . Thus d(x,x) = 0 for a common fixed point x of S and T. Let x, y be common fixed point of S and T, then by (3.1),

$$\int_0^{d(x,y)} f(t) dt = \int_0^{d(Sx,Tx)} f(t) dt$$

$$\leq \alpha \int_0^{d(x,y)} f(t) dt + \beta \int_0^{d(x,y)} f(t) dt + \gamma \int_0^{d(y,y)} f(t) dt$$

$$\leq (\alpha + \beta) \int_0^{d(x,y)} f(t) dt$$

and from this it follows that d(x,y) = 0, since  $\alpha + \beta < 1$  and  $d(x,y) \ge 0$ . Hence x = y. Thus S and T have unique common fixed point.

#### 4. Conclusion

In this paper, we study coupled common fixed point theorems in dislocated quasi-metric spaces. We prove common fixed point theorems for self-mappings in dislocated quasi-metric spaces. We provide application to integral equations, proving existence and uniqueness of solutions. Our result is supported with example to confirm correctness and applicability. Our work aim to advance fixed point theory, offering new tools for nonlinear analysis and applied mathematics. We hope these findings inspire future research to explore more in dislocated metric spaces and contribute to mathematical knowledge.

### References

- [1] C. T. Aage and J. N. Salunke, *Some results of fixed point theorem in dislocated quasi metric space*, Bulletin of Marathadawa Mathematical Society, 9(2008), 1-5.
- [2] D. Akcay and C. Alaca, *Coupled fixed point theorem in dislocated quasimetric space*, Journal of Advance Studies in Topology, 4(1)(2012), 66-72.
- [3] S. Banach, *Sur les op'erationsdans les ensembles abstraits et leur application aux équations intégrales*, Fund. Math., 3(1922), 133-181.
- [4] T. G. Bhaskar and V. Lakshmikantham, *Fixed Point Theorem in partially ordered metric spaces and applications*, Nonlinear Analysis Theorey and Applications, 65(7)(2006), 1379-1393.
- [5] M. Damene, K. Koyas and S. Gebregiorgis, Coupled coincidence and coupled common fixed point theorem in dislocated quasi metric space, Eng. Appl. Sci. Lett., 3(4)(2020), 11-18.
- [6] Z. Fadil and A. G. Bin Ahmad, Coupled coincidence point and common coupled fixed point results in cone *b-metric spaces*, Fixed Point Theory and Applications, (1)(2013), 177.
- [7] P. Hitzler, Generalized metrics and topology in logic programming semantics, PhD Thesis, National University of Ireland, University College Cork, (2001).
- [8] P. K. Jhade and M. S. Khan, Some coupled coincidence and common coupled fixed point theorems in complex-valued metric spaces, Ser. Math. Inform, 29(4)(2014), 385-395.
- [9] J. Kumar and S. Vashistha, Coupled fixed point theorem for generalized contraction in complex valued metric spaces, International Journal of Computer Applications, 83(7)(2013), 36-40.

- [10] V. Lakshmikantham and L. Ciric, Coupled fixed point theorems for nonlinear contractive in partially ordered metric spaces, Nonlinear Analysis, 70(12)(2009), 4341-4349.
- [11] S. Mhanna, O. Baiz, H. Benaissa and D. EI Moutawkil, *Some new results of fixed point in dislocated quasi-metric spaces*, J. Math. Computer Sci., 24(2022), 22-32.
- [12] M. Mohammad, R. Jamal, J. Jyoti Mishra, A. Kabir and Q. R. Bhardwaj, *Coupled fixed point theorem and in dislocated quasi-metric space*, International Journal of Pure and Applied Mathematics, 119(10)(2018), 1149-1260.
- [13] M. U. Rahman and M. Sarwar, *Fixed point results in dislocated quasi-metric spaces*, International Mathematical Forum, 9(14)(2014), 677-682.
- [14] F. M. Zeyada, G. H. Hassan and M. A. Ahmed, *A generalization of a fixed point theorem due to Hitzler and Seda in dislocated quasi-metric spaces*, Arabian Journal for Science and Engineering, 31(1A)(2006), 111-114.